
info@paretoas.com 

www.paretoas.com 

21455 Melrose Ave, Suite 19,  

Southfield, MI 48075 

ALFO KIT FOR MERCEDES SPRINTER WB170” 

ALFO Extrusion  w/ machining –CT62A 

NA 

9 

ALFO Extrusion  w/ machining –DT62A 1 

ALFO Extrusion  w/ machining –PT62A 1 

ALFO Extrusion  w/ machining  RT62A 1 

ALFO Extrusion  w/ machining  RT68A 1 

Hex bolts, Zinc plated steel, 3/8"-16 x 12" 
8 

Hex bolts, Zinc plated steel Grade 5, 3/8"-16 

x 7" 8 

Hex bolts, Zinc plated steel Grade 5, 3/8"-16 

x 5-1/2" 8 

Hex bolts, Zinc plated steel Grade 5, 3/8"-16 

x 2-1/2" 8 

Underbody Reinforcement Plates 
14 

SAE flat washers 3/8", Zinc plated steel 
42 

High-Strength Steel Nylon-Insert Locknut 
14 

EPS Foam for sides 4 

EPP Foam for Corners 4 

List of Items Image No of Item 


